
 

 

Name              Date       

1. 6 × 3 = ______ 

 

 

 

 

 

  

(4 × 3) + (2 × 3) = _________+ _________  

                

    6 × 3 = _________ + _________ 

 

                       ______ × 3 = ______ 

 

(4 × 3) = _____ 

(2 × 3) = _____ 

2.  7 × 3 = ______ 

(_____ × 3) = ______ 

(_____ × 3) = ______ 

(5 × 3) + (2 × 3) = _________ + _________ 

 

                  7 × 3 = _________  + _________ 

 

            ______ × 3 = ______ 

 

 

Lesson 10: Model the distributive property with arrays to decompose units as a 

strategy to multiply.
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